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The figures in the nght-hand margin indicate marks.
' Candidates are required to give their answers in
their own words as far as practicable.

1. Answe;_any ten questions from the following:
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b)  What do you imean by Normative Economics?
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¢) How are the market and individual demand - |
© curves related? . ' o
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n December, the price of Christnias treés rises

and the number of trees sold also rises. Is this a

* violation of the law of demand? Give your

argument in favour of your answer.
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What do you mean by consumer’s surplus?
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Doﬁne cross price elasticity. Mention tﬁe nature

of the two goods when value of cross Aprice
elasticity is 0.8.
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What will be the shape of ademand curve in case
of unitary elasticity? .
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How are total ytility and ma:ginal utility related?
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Why cannot two indifference curves intersect

each other?
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How does a consumer spend his/her income in

' purchasmg two goods if the indifference curve

is concave to the origin in a two commodity
world?

ot g T R g Fe

State the law of diminishing returns.
WS@’I‘“" efwicTa freels Rge =1
State the concept of Expansion path.
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Mention two propertles of homogeneous :
production function. '
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What are the variable costs of a ﬁnn? Give
examples.
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Is AFC curve U-shaped? If not, what is the
p0531ble shape of AFC curve?
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Answer any four questions from the following:

5x4=20
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i)  Find the slope of an assumed linear
demand curve for theatre tickets, when
persons purchase 1,000 at Rs.5.00 per
ticket and 200 at Rs.15.00 per ticket.
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ii) Given the following data: P = 80 — Q
(Demand), P = 20 + 2Q (Supply). Now
suppliers must pay a tax of Rs.6 per unit,
Find the equilibrium price and quantity,

: 2+3=5
ORI P = 80 — Q (sif), P = 20 + 2Q
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Show the relation between average revenue,
marginal revenue and the price elasticity.
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What do you mean by marginal rate of
substitution? How is the value of marginal rate
of substitution (MRS) responsible in
determining the shape of the indifference curve?
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Diagrammatically explain the economic region
in the short run production analysis.
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Discuss diagrammatically the different types of
returns to scale.
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How do you explain the shape of total variable
cost (TVC) by using law of variable proportion?
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Answer any two questions from the following:

10x2=20
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What do you mean by equilibrium in
Economics? Discuss the existence, uniqueness
and stability of equilibrium with the help of
diagra,ms.
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Derive the income consumption curve (ICC).
What would be the shape of the ICC if
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i). bothX and Y are nomial goods.
Xe YWWWI

ii) good X is a. normal good and good Y is
mfenor
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iii) good X is an inferior good and good Yis a
normal good. '
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Discuss the properties of Cqbb-Douglas

‘production function.
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Derive a long rup average cost curve ﬁom aset
of short run average cost curves.
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